

$$\textcircled{1} f(x+y) = f(x) + f(y)$$

$$\textcircled{2} f(\alpha x) = \alpha f(x)$$

$$\left\{ \begin{aligned} f(x) &= C^T x \\ &= \sum c_i x_i \end{aligned} \right.$$

max  $v$   
 $v_i x_{ij}$   $\uparrow$

Kostenfkt.  $f(v) = v$

$$f(v_1 + v_2) = f(v_1) + f(v_2)$$

$$\begin{aligned} v_1 + v_2 &= v_1 + v_2 && \text{linear} \\ f(\alpha v) &= \alpha v \end{aligned}$$

$$(P) \max_{\hat{x}} f(\hat{x}) \quad \text{bei} \quad g(\hat{x}) = 0 \\ L(\hat{x}) \leq 0$$

(P) heißt linear  $\Leftrightarrow f, g, L$  linear

$$\hat{x} = (v, (x_{ij} | k, j) \in E)$$

$$\begin{pmatrix} v \\ x_{12} \\ x_{23} \\ \vdots \\ \vdots \end{pmatrix} = \hat{x}$$

$$\sum x_i^2$$

mit  $C^T x$   
 $x \in \mathbb{R}^n$

bei

$$\underbrace{Ax = b}_{x \geq 0}$$

$$l_{ij} \leq x_{ij} \leq c_{ij}$$

$$\hat{x} = \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 0 \end{pmatrix} \left( \begin{array}{c} I \\ e_s - e_t \end{array} \right) \begin{pmatrix} \hat{x} \\ v \end{pmatrix} = 0$$

$$v \quad \begin{matrix} 11 \\ \left. \begin{matrix} 0 & 0 & 1 & 0 & 0 & 0 & 0 & 0 & 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & 0 & 0 & 0 & 0 & 0 & 0 & 0 \end{matrix} \right\} \end{matrix}$$

$$\hat{A} \begin{pmatrix} \hat{x} \\ v \end{pmatrix} = b$$

$$I \hat{x} = (e_s - e_t) v$$

$$I \hat{x} - (e_s - e_t) v = 0$$

$$l_{ij} \leq x_{ij} \leq c_{ij}$$

$$\begin{array}{c} \downarrow \\ \textcircled{l} \leq \textcircled{x} \leq \textcircled{c} \end{array}$$

$$A\hat{x} = b$$

$$\hat{x} \geq 0$$

$$\hat{x} \leq \hat{c}$$



$$\hat{x} + s = \hat{c}$$

Slack variable  $s$ ,  $s \geq 0$

$$\hat{l} \leq \hat{x}$$

$$\downarrow \\ w \geq 0$$

$$\hat{l} + w = \hat{x} \Leftrightarrow \hat{x} - w = \hat{l}$$